

分数のひき算①

年 組 名前

通分して、約分して答えます

$$1. \quad \frac{5}{7} - \frac{1}{5} =$$

$$2. \quad \frac{5}{6} - \frac{1}{9} =$$

$$3. \quad \frac{5}{8} - \frac{2}{5} =$$

$$4. \quad \frac{3}{4} - \frac{1}{7} =$$

$$5. \quad \frac{3}{5} - \frac{1}{6} =$$

$$6. \quad \frac{2}{3} - \frac{1}{2} =$$

$$7. \quad \frac{6}{7} - \frac{3}{8} =$$

$$8. \quad \frac{4}{7} - \frac{1}{8} =$$

$$9. \quad \frac{7}{8} - \frac{1}{3} =$$

$$10. \quad \frac{4}{5} - \frac{1}{4} =$$

分数のひき算① 答え

$$1. \quad \frac{5}{7} - \frac{1}{5} = \frac{25}{35} - \frac{7}{35} = \frac{18}{35}$$

$$2. \quad \frac{5}{6} - \frac{1}{9} = \frac{15}{18} - \frac{2}{18} = \frac{13}{18}$$

$$3. \quad \frac{5}{8} - \frac{2}{5} = \frac{25}{40} - \frac{16}{40} = \frac{9}{40}$$

$$4. \quad \frac{3}{4} - \frac{1}{7} = \frac{21}{28} - \frac{4}{28} = \frac{17}{28}$$

$$5. \quad \frac{3}{5} - \frac{1}{6} = \frac{18}{30} - \frac{5}{30} = \frac{13}{30}$$

$$6. \quad \frac{2}{3} - \frac{1}{2} = \frac{4}{6} - \frac{3}{6} = \frac{1}{6}$$

$$7. \quad \frac{6}{7} - \frac{3}{8} = \frac{48}{56} - \frac{21}{56} = \frac{27}{56}$$

$$8. \quad \frac{4}{7} - \frac{1}{8} = \frac{32}{56} - \frac{7}{56} = \frac{25}{56}$$

$$9. \quad \frac{7}{8} - \frac{1}{3} = \frac{21}{24} - \frac{8}{24} = \frac{13}{24}$$

$$10. \quad \frac{4}{5} - \frac{1}{4} = \frac{16}{20} - \frac{5}{20} = \frac{11}{20}$$

分数のひき算②

年 組 名前

通分して、約分して答えます

$$1. \quad \frac{4}{5} - \frac{2}{7} =$$

$$2. \quad \frac{4}{7} - \frac{1}{9} =$$

$$3. \quad \frac{6}{7} - \frac{3}{8} =$$

$$4. \quad \frac{1}{4} - \frac{1}{5} =$$

$$5. \quad \frac{3}{7} - \frac{1}{3} =$$

$$6. \quad \frac{2}{3} - \frac{1}{7} =$$

$$7. \quad \frac{1}{2} - \frac{1}{6} =$$

$$8. \quad \frac{5}{6} - \frac{2}{5} =$$

$$9. \quad \frac{3}{4} - \frac{3}{5} =$$

$$10. \quad \frac{7}{8} - \frac{5}{6} =$$

分数のひき算② 答え

$$1. \quad \frac{4}{5} - \frac{2}{7} = \frac{28}{35} - \frac{10}{35} = \frac{18}{35}$$

$$2. \quad \frac{4}{7} - \frac{1}{9} = \frac{36}{63} - \frac{7}{63} = \frac{29}{63}$$

$$3. \quad \frac{6}{7} - \frac{3}{8} = \frac{48}{56} - \frac{21}{56} = \frac{27}{56}$$

$$4. \quad \frac{1}{4} - \frac{1}{5} = \frac{5}{20} - \frac{4}{20} = \frac{1}{20}$$

$$5. \quad \frac{3}{7} - \frac{1}{3} = \frac{9}{21} - \frac{7}{21} = \frac{2}{21}$$

$$6. \quad \frac{2}{3} - \frac{1}{7} = \frac{14}{21} - \frac{3}{21} = \frac{11}{21}$$

$$7. \quad \frac{1}{2} - \frac{1}{6} = \frac{3}{6} - \frac{1}{6} = \frac{2}{6} = \frac{1}{3}$$

$$8. \quad \frac{5}{6} - \frac{2}{5} = \frac{25}{30} - \frac{12}{30} = \frac{13}{30}$$

$$9. \quad \frac{3}{4} - \frac{3}{5} = \frac{15}{20} - \frac{12}{20} = \frac{3}{20}$$

$$10. \quad \frac{7}{8} - \frac{5}{6} = \frac{21}{24} - \frac{20}{24} = \frac{1}{24}$$

分数のひき算③

年 組 名前

通分して、約分して答えます

$$1. \quad \frac{11}{12} - \frac{1}{4} =$$

$$2. \quad \frac{5}{6} - \frac{7}{12} =$$

$$3. \quad \frac{2}{3} - \frac{5}{12} =$$

$$4. \quad \frac{1}{2} - \frac{3}{10} =$$

$$5. \quad \frac{3}{4} - \frac{1}{12} =$$

$$6. \quad \frac{11}{12} - \frac{1}{6} =$$

$$7. \quad \frac{2}{3} - \frac{1}{6} =$$

$$8. \quad \frac{4}{5} - \frac{3}{10} =$$

$$9. \quad \frac{5}{12} - \frac{1}{6} =$$

$$10. \quad \frac{1}{2} - \frac{1}{10} =$$

分数のひき算③ 答え

$$1. \quad \frac{11}{12} - \frac{1}{4} = \frac{11}{12} - \frac{3}{12} = \frac{8}{12} = \frac{2}{3}$$

$$2. \quad \frac{5}{6} - \frac{7}{12} = \frac{10}{12} - \frac{7}{12} = \frac{3}{12} = \frac{1}{4}$$

$$3. \quad \frac{2}{3} - \frac{5}{12} = \frac{8}{12} - \frac{5}{12} = \frac{3}{12} = \frac{1}{4}$$

$$4. \quad \frac{1}{2} - \frac{3}{10} = \frac{5}{10} - \frac{3}{10} = \frac{2}{10} = \frac{1}{5}$$

$$5. \quad \frac{3}{4} - \frac{1}{12} = \frac{9}{12} - \frac{1}{12} = \frac{8}{12} = \frac{2}{3}$$

$$6. \quad \frac{11}{12} - \frac{1}{6} = \frac{11}{12} - \frac{2}{12} = \frac{9}{12} = \frac{3}{4}$$

$$7. \quad \frac{2}{3} - \frac{1}{6} = \frac{4}{6} - \frac{1}{6} = \frac{3}{6} = \frac{1}{2}$$

$$8. \quad \frac{4}{5} - \frac{3}{10} = \frac{8}{10} - \frac{3}{10} = \frac{5}{10} = \frac{1}{2}$$

$$9. \quad \frac{5}{12} - \frac{1}{6} = \frac{5}{12} - \frac{2}{12} = \frac{3}{12} = \frac{1}{4}$$

$$10. \quad \frac{1}{2} - \frac{1}{10} = \frac{5}{10} - \frac{1}{10} = \frac{4}{10} = \frac{2}{5}$$